

Pollaczek polynomials and hypergeometric representation

Jamel Benameur · Mongi Blel

Received: 10 October 2011 / Accepted: 13 May 2012 / Published online: 19 September 2012
© Springer Science+Business Media, LLC 2012

Abstract This paper gives a solution, without the use of the three-term recurrence relation, of the problem posed in Ismail (Classical and Quantum Orthogonal Polynomials in One Variable, Cambridge University Press, Cambridge, 2005) (Problem 24.8.2, p. 658): that the hypergeometric representation of the general Pollaczek polynomials is a polynomial in $\cos(\theta)$ of degree n . Chu solved in (Ramanujan J. 13(1–3): 221–225, 2007) the problem in a particular case. We use elementary properties of functions of complex variables and Pfaff’s transformation on hypergeometric ${}_2F_1$ -series.

Keywords Orthogonal polynomials · Pollaczek polynomials · Hypergeometric functions · Pfaff–Euler transformation

Mathematics Subject Classification 33C45 · 33C47 · 33C50 · 42C05

1 Introduction

The general Pollaczek polynomials $P_n^\lambda(x, a, b)$, defined for $\lambda + a$ not a non-negative integer, satisfy the three-term recurrence relation (Szegő [6], and Chihara [2]),

$$(n+1)P_{n+1}^\lambda(x, a, b) = 2[(n+\lambda+a)x+b]P_n^\lambda(x, a, b) - (n+2\lambda-1)P_{n-1}^\lambda(x, a, b), \quad n \geq 1,$$

The research is supported by NPST Program of King Saud University; project number 10-MAT1293-02.

J. Benameur (✉) · M. Blel
Department of Mathematics, College of Science, King Saud University, Riyadh 11451,
Kingdom of Saudi Arabia
e-mail: jbenameur@ksu.edu.sa

M. Blel
e-mail: mblel@ksu.edu.sa

with the initial conditions

$$P_0^\lambda(x, a, b) = 1, \quad P_1^\lambda(x, a, b) = 2(\lambda + a)x + 2b.$$

Pollaczek [5] introduced these polynomials when $\lambda = \frac{1}{2}$ and Szegő [6] generalized them by introducing the parameter λ . The monic polynomials associated with the sequence $(P_n^\lambda(x, a, b))_n$ is the sequence $(Q_n^\lambda(x, a, b))_n$ defined by

$$(Q_n^\lambda(x, a, b))_{n \geq 0} = \frac{n!}{2^n(\lambda + a)_n} (P_n^\lambda(x, a, b))_{n \geq 0}.$$

The generating function associated with the sequence $(P_n^\lambda(x, a, b))_n$ (see [4]) is given by

$$\sum_{n=0}^\infty P_n^\lambda(x, a, b)t^n = (1 - te^{i\theta})^{-\lambda+i\Phi(\theta)}(1 - te^{-i\theta})^{-\lambda-i\Phi(\theta)},$$

where $\Phi(\theta) = \frac{a \cos \theta + b}{\sin \theta}$.

A classical computation leads to

$$\begin{aligned} \sum_{n=0}^\infty P_n^\lambda(x, a, b)t^n &= (1 - te^{i\theta})^{-\lambda+i\Phi(\theta)}(1 - te^{-i\theta})^{-\lambda-i\Phi(\theta)} \\ &= \left(\sum_{n=0}^\infty \frac{(\lambda - i\Phi(\theta))_n}{n!} t^n z^n \right) \left(\sum_{n=0}^\infty \frac{(\lambda + i\Phi(\theta))_n}{n!} t^n e^{-in\theta} \right) \\ &= \sum_{n=0}^\infty \left(\sum_{k=0}^n \frac{(\lambda + i\Phi(\theta))_k (\lambda - i\Phi(\theta))_{n-k}}{k!(n-k)!} e^{-2ik\theta} \right) e^{in\theta} t^n. \end{aligned}$$

Since $(\lambda + x)_n = (\lambda + x)_{n-k}(\lambda + x + n - k)_k$ and $(\lambda + x + n - k)_k = (-1)^k(-\lambda - x - n + 1)_k$, we have

$$\begin{aligned} P_n^\lambda(x, a, b) &= \sum_{k=0}^n \frac{(\lambda + i\Phi(\theta))_k (\lambda - i\Phi(\theta))_{n-k}}{k!(n-k)!} e^{-i(n-2k)\theta} \\ &= e^{in\theta} \frac{(\lambda - i\Phi(\theta))_n}{n!} {}_2F_1 \left(\begin{matrix} -n, \lambda + i\Phi(\theta) \\ -\lambda + i\Phi(\theta) - n + 1 \end{matrix}; e^{-2i\theta} \right). \end{aligned} \tag{1}$$

In [4], Problem 24.8.2, Mourad Ismail posed the problem to prove that the right-hand side of (1) is a polynomial in $\cos(\theta)$ of degree n without the use of the three-term recurrence relation of the Pollaczek polynomials. In 2007, Chu [3] solved the problem when $b = 0$.

In this paper, we solve the problem in the general case and we prove the following result.

Theorem 1 Let $\Phi(\theta) = \frac{a \cos \theta + b}{\sin \theta}$ and

$$F(\theta) = e^{in\theta} \frac{(\lambda - i\Phi(\theta))_n}{n!} {}_2F_1 \left(\begin{matrix} -n, \lambda + i\Phi(\theta) \\ -\lambda + i\Phi(\theta) - n + 1 \end{matrix}; e^{-2i\theta} \right).$$

Then, F is a polynomial of degree n of $\cos(\theta)$ and $F(\theta) = P_n^\lambda(\cos(\theta), a, b)$.

2 Proof of the main theorem

Define the function A on $\mathbb{C} \setminus \{-1, 1\}$ by $A(z) = \frac{az^2 + 2bz + a}{z^2 - 1}$. Thus $A(z) = -A(\frac{1}{z})$ and $-i\Phi(\theta) = A(e^{i\theta})$.

Let

$$\begin{aligned} f(z) &= z^n \frac{(\lambda + A)_n}{n!} {}_2F_1 \left(\begin{matrix} -n, \lambda - A \\ -\lambda - A - n + 1 \end{matrix}; z^{-2} \right) \\ &= \sum_{k=0}^n \frac{(\lambda - A)_k (\lambda + A)_{n-k}}{k!(n-k)!} z^{n-2k}. \end{aligned} \tag{2}$$

The function f is holomorphic in $\mathbb{C} \setminus \{0, 1, -1\}$. The singularities $\{0, 1, -1\}$ are either removable or poles of order at most n . We intend firstly to prove that -1 and 1 are removable.

We recall Pfaff’s transformation formula for the hypergeometric function ${}_2F_1$ (see [1]), which is a consequence of the well-known Gauss formula.

Proposition 1 (Pfaff’s transformation formula) *Let $b, c, z \in \mathbb{C}$ such that $z \neq 1, c$ is not a negative integer. Then*

$$(1 - z)^n {}_2F_1 \left(\begin{matrix} -n, b \\ c \end{matrix}; \frac{-z}{1 - z} \right) = {}_2F_1 \left(\begin{matrix} -n, c - b \\ c \end{matrix}; z \right).$$

It follows that

$$\begin{aligned} f(z) &= z^n \frac{(\lambda + A)_n}{n!} {}_2F_1 \left(\begin{matrix} -n, \lambda - A \\ -\lambda - A - n + 1 \end{matrix}; z^{-2} \right) \\ &= z^n \frac{(\lambda + A)_n}{n!} \frac{(z^2 - 1)^n}{z^{2n}} {}_2F_1 \left(\begin{matrix} -n, -2\lambda - n + 1 \\ -\lambda - A - n + 1 \end{matrix}; \frac{1}{1 - z^2} \right) \\ &= \frac{(\lambda + A)_n (z^2 - 1)^n}{z^n} \sum_{k=0}^n \frac{(-1)^k}{k!(n - k)!} \frac{(-2\lambda - n + 1)_k}{(-\lambda - A - n + 1)_k (1 - z^2)^k}. \end{aligned}$$

It follows that 1 and -1 are removable singularities for the function f . Then, the only singularity of f is 0.

From (2), $f(z) = f(\frac{1}{z})$. Since 0 is a pole of order at most n , it follows that the Laurent series of f takes the form

$$f(z) = \sum_{k=-n}^n a_k z^k, \quad \text{where } a_k = a_{-k} \text{ for } k = 1, 2, \dots, n.$$

By the residue theorem

$$\begin{aligned} a_n &= \frac{1}{2i\pi} \int_{|z|=R} \frac{f(z)}{z^{n+1}} dz \\ &= \sum_{k=0}^n \frac{1}{k!(n-k)!} \frac{1}{2\pi} \int_0^{2\pi} (\lambda - A(\operatorname{Re}^{i\theta}))_k (\lambda + A(\operatorname{Re}^{i\theta}))_{n-k} R^{-2k} e^{-2ik\theta} d\theta. \end{aligned}$$

But this integral is independent of R , therefore, letting $R \rightarrow \infty$, we have

$$a_n = \frac{(\lambda + a)_n}{n!}.$$

Therefore $f(e^{i\theta})$ is a polynomial of $\cos(\theta)$ of degree n . This finishes the proof.

References

1. Bailey, W.N.: Generalized Hypergeometric Series. Cambridge University Press, Cambridge (1935)
2. Chihara, T.S.: An Introduction to Orthogonal Polynomials. Gordon and Breach, New York (1978)
3. Chu, W.: Pollaczek polynomials and hypergeometric representation. Ramanujan J. **13**(1–3), 221–225 (2007)
4. Ismail, M.E.H.: Classical and Quantum Orthogonal Polynomials in One Variable. Encycl. of Math., vol. 98. Cambridge University Press, Cambridge (2005)
5. Pollaczek, F.: Sur une généralisation des polynômes de Legendre. C. R. Acad. Sci. Paris **228**, 1363–1365 (1949)
6. Szegő, G.: On certain special sets of orthogonal polynomials. Proc. Am. Math. Soc. **1**, 731–737 (1950)